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Important Instruction

1. All question is compulsory

2. Max Mark is 100

3. Part A consists of (subjective question each have 05 marks and Objective
question each had 01 mark.

4. Part B consists of objective question each have 01 mark. There are no
negative marks.

5. Questions are in both Hindi and English in case of any dispute English
version will be valid.

PART A (Subjective Questions)

Attempt any 05 Question (Max Marks 5X5 = 25)

1L

Write short notes on the following:

a) Sewerage system

b) Drain and trench drain

¢) Optimum moisture content and maximum dry density
d) OPC and PPC cement !

frforRa W wféra fewfordt for:

a) GraRSl gorTel!

b) el 3R @rg Arell

¢) IFherdd T R IfEHTH Y T

d) SdiR. ik N W

Give advantages and disadvantages of concrete sleeper.

FHE TR & B R A gy |

Explain the factors which affect the bearing capacity of soils.

Wﬁmmﬁuﬂﬁﬁaﬂﬁaﬁmﬁaﬁmam

What is analysis of rates? Explain its purpose.

23] @1 fAgamyT g1 87 3! Sqa¥d T |

Write a short note on the classification of bricks.

ga‘f%avﬁaswwwmﬂ%mﬁ%@

What are the advantages and disadvantages of welded joints?

a@sm@a%wmﬁaﬂvawﬁw%?




PART A (Objective Questions)

1. Unit of measurement of Noise pollution is-
(a) Newton
(b) ppm
(c) db
{d) None of above
e ygwor qrod f g @-
a) =
b) iy
c) SiHt
d) =% ¥ 9 7

2. A concrete having a slump of 65 cm, is said to be
a) Dry
b) Earth moist
c) Semi-plastic
d) Plastic
65 It Ft FATH qTET FAHIE FgATdT 2-
a) T
b) AT
c) wd-rfiew
d) e

3. The entrained air in concrete
a) Increases workability
b) Decreases workability
c) Decreases resistance to weathering
d) Increases strength
Fehte & gt arg
a) Frdsfierar #1 q@TH §
b) FrAsfierar 1 F9 FAT 8
c) @9EE F wfy fadre Fr F77 Fd €

d) word A

4. The section of a reinforced beam where most distant concrete fibre in compression
and tension in steel attains permissible stresses simultaneously, is called
a) Balanced section
b) Economic section
c) Critical section
d) All the above
q?ﬁﬁﬁﬂﬁﬂﬂﬂ#ﬁﬁﬁﬂ%{(ﬂmww@ﬂﬁm@mmvﬁwm
F7AT &, FEATan ¢
a) @afea anr
b) @nfd arr
c) wifa® aqrr
d) svire a4t




In a singly reinforced beam, if the permissible stress in concrete reaches earlier
than that in steel, the beam section is called
a) Under-reinforced section
b) Over reinforced section
¢) Economic section
d) Critical section
uFe wafeT fiw #, aft e § et sfvaw e f qoar § gz o= srar 2, 9 fiw agae w war
ST @
a) T Fafod SAqamT
b) sif¥= vafea srpamr
c) s srgamT
d) Wi srgamT

As per ISI, rolled steel beam sections are classified into
a) Two series

b) Three series

c) Four series

d) Five series

AETHAE F ATATL, Tes T 17 AFerT Y Fafiehe AT ST &
a) 3T gEar

b) i+ s@ar

) = F@ar

d) 9= @«

7. Rolled steel beams are :

a) Mainly used to resist bending stress

b) Used as independent sections to resist compressive stress
c) Used as independent sections to resist tensile stress

d) All the above

s ®a 99 8

a) HET FT § FqHA T 19 T (40" F3 5 forg Iy o sirar &

b) @iz aama F1 Ay T F o wad sSgwmi ® €9 § Segnr B e g
C) F=AaT FATE FT A2y F F o w@d = St €9 & Sggnr B s g
d) F97ren q4t

8. The channels get twisted symmetrically with regard to its axis

a) Parallel to flanges

b) Parallel to web

¢) Perpendicular to flanges

d) Perpendicular to web

e AT g F Hay H anfha w78 g2 9w
a) TS & AHTATTL

b) @@ % FHTATAY

c) AT & daaq

d) 3@ ¥ daaq




9. Factor of safety is the ratio of

a) Yield stress to working stress

b) Tensile stress to working stress

¢) Compressive stress to working stress
d) Bearing stress to working stress
LT HTCH HT I §

a) I F9TT A7 w qE"

b) &= qaTa S Ft qATE

c) wftew qare o Ff AT

d) s qre S} w1 e

10. The inventor of the term soil mechanics, was
a) Kray

b) Dr. Karl Terzaghi

c) Leygue

d) Fellenius

HRT A orex F anfews
a)®

b) =t. Fret Tmft

¢) &g

d) ¥efRas

11. Chemical weathering of soil is caused due to
a) Oxidation

b) Carbonation

¢) Hydration

d) All the above

gt #1 Tt s R wron qar gy

a) FFfHTr

b) FrEtaeas

¢) AT

d) 397 7t

12. Water formed transported soil is
a) Alluvial
b) Marine




13. The water content of soil is defined as the ratio of
a) Volume of water to volume of given soil
b) Volume of water to volume of voids in soil
c) Weight of water to weight of air in voids
d) Weight of water to weight of solids of given mass of soil
g & areft & s A e F srqara F = # ofvarfe B smar 2
a) STt T s s & 7 B Fr s
b) Tt F sraae s gt & Rfeat 1 s
c) aTet F 917 i Rt & gar #v W
d) 9Tt F1 9 s g F Ru T germ F S gt # A

14. Accurate determination of water content, is made by
a) Calcium carbide method
b) Sand bath method
c) Alcohol method
d) Oven-drying method
st ATt 1 adE Rutvon, g By s 2
a) Ffeeraw Faize Ay
b) @ == Ay
C) g fafy
d) @ g i &y

15.A Pycnometer is used to determine
a) Voids ratio
b) Dry density
c) Water content
d) Bearing Capacity
ST F ST Rt F2 F fr frar s 2
a) 4 I
b) 9% g7
c) 51 ATt
d) @& amar

16.The sludge does not contain waste water from
a) Bath rooms

b) Wash Basins
¢) Kitchen sinks
i d) Toilets
ez # arafore srer 7t g
| a) araEy
b) ater afas
c) Tt s
d) ¢frrerg




17.The sewerage system originates from
a) House sewers
b) Lateral sewers
¢) Branch sewers
d) Main sewers
Hrads worreft wgh & Reperelt &
a) Wiy #iaw
b) o ez
c) e Hta<
d) =g Hiaw

18. Per capita demand of water is calculated in litres

1. Per person per day

2. Per person per month

3. Per person per year

4. None of these.

st =afen ster &t 7 oftex & ardy oreft @
a) vfa =afn wfa fR=
b) wfa ==t aft =78
c) it =fw wfa ad
d) =% & Fr TE

19.Minimum spacing between horizontal parallel reinforcement of different sizes,
should not be less than

a) One diameter of thinner bar

b) One diameter of thicker bar

C) Sum of the diameters of thinner and thicker bar

d) Twice the diameter of thinner bar

Afir e & afts mamaia gedw  fit mgraw sz, & w7 78 g e
a) I9d AT T UF AT

b) #E a1 T UF A

C) TAA AT HIE AT F ATET HT AT

d) 99 17 F AT FT Z[AT

20.The diameter of longitudinal bars of a column should never be less than
a) 6 mm
b) 8 mm
c) 10 mm
d) 12 mm
fft #=a i aqaed gt o1 2 w9 ft wod w9 7 G ke
a) 6 fasft
b) 8 fast
c) 10 fasfr
d) 12 fasdt




21.Which one of the following transportation systems is not used for the conveyance of
passengers in India?

a) Railways

b) Roads

¢) Shipping

d) Pipe Lines

Rafafe § 3 99 & ofaes soreft s # ot F ofmge % fo soger =50 6 st 22
a) e

b) w=%

c) s

d) grsueTET

22.The minimum width of the pavement of a National Highway should be
a) 47m

b) 5.7m
¢) 6.7m
d) 7.7m
TETT THT F U1 $Y ~gAaH JI=TE g J1ey
a) 4.7 #iex
b) 5.7 Hex
¢) 6.7 #iex
d) 7.7 #rex

23.Gauge of a permanent way, is
a) Minimum distance between running faces of rails
b) Minimum distance between outer faces of rails
c) Distance between centers of rails
d) Width of formation
=TT AT AT AN
a) 79 F FAF AT Fg $ AT9 gAaH g4
b) ¥ % argdt Jgat & dt= =gman g
¢) ¥ F FET F A fir g
d) #7=aT £t 9ETe

24.Rail joint supported on a single sleeper, is known
a) Suspended rail joint
b) Bridge rail joint
c) Supported rail joint
d) Square rail joint.
FA FATIT 97 AUIAT T AE A Fgy v §
a) fAafag @ sz
b) s @ shE
c) 7wfda v sz
d) =FTaT 7 SE|




25.Bending of rail ends due to loose packing under a joint and loose fish Bolts, is
known.

a) Buckling

b) Hogging

¢) Creeping

d) None of these.

Sie & A= el #f s Sid feer dvee ¥ Freor Yo % R 1 g AT AT 21
a) FFfeT A

b) giffr

¢) T[T

d) =¥ & FrE TE

PART B (Objective Questions)

1. PrefeRad ¥ & @ @ g 4 wR T8 8
a) 3T
b) ¥
c) &
d) 31

2. R ¥ eafiet foary yBR B B 27
) 2
b 4
c) 8
d) 10

3. T 9 Aft® quif & AT &) o1 Py 27
a) 3J&R
b) @R
c)ai\_rFT

d) TR

4. &= wmeT A g fea faft 87
a) 44
b) 48
c)L52
d) 56

5. XA B BN AT Ao Had &7
a) WY o
b) =TS G
c) & o

d) 3 4 PiE T8



10.

11:

. IR fraer st Fwar 82

a) et &
b) Hcfeg &
¢) ua® gof &1
d) &R &1

T SR W & A W O o 9 BT 8, S T Had o7
a) T

b) TR
c) ﬂﬁ'@
d) ITER

el a%g B IIER ¥ A FHST IR HY T | 87
a) ST

b) AFUAT
c) T
d) \guanT

S e, A e TRl W JeBR Y UK Bl WA I o, S UG DI
FT PEA 87

a) afgd g
b) ®ad I
c) Hhd UId
d) 3F Ug

S FdAH G YRl P ¥ 9§94 8, 9 T HEd &7

fopforRaa vl § ¥ D19 AT I Harard 87
a) q
b) <41
c) GG
d) <adr




12. GAEIRGRT f5 3y &1 9g {2
a) WIS
b) fEar—fagyor
c) GeHAND
d) frefeaus

13. Fr=foriad & & & @ weg gfeeir &7
a) QH®D
b) XId
c) qsf
) fagR

14. 59 af = @Y o 9 R A @Y Ol B, 9 9 H, SS9 FT ded 87
a) ATTT
b) SH
c) T
d) SRNTATE

15. AqdTEd A9 fhad YR @ =] A g9d7 2°?
a) IR YR B
b) I TPR B
c) UM bR &
d) B YR B

16. Identify the correctly punctuated sentence:
a) she said "I am going to the market"
b) She said, "I am going to the market."
c) She said "l am going to the market."
d) she said, "I am going to the market"

17.Choose the correct article:
She adopted ___ orphan puppy.
a) a
b) an
c) the
d) no article

18.Choose the correct pronoun:
Everyone should bring __ own lunch.
a) his
b) her
¢) their
d) its



19.1dentify the correct sentence:
a) The team has played good.
b) The team has played well.
¢) The team have played good.
d) The team have played well.

20.Choose the correct form of the adjective:
This is the __ movie I have ever seen.
a) worse
b) worst
c) bad
d) more bad

21.Choose the correct verb form:
She __ in this company since 2015.
a) works
b) is working
c) has been working
d) worked

22 What is the synonym of "Abundant"?
a) Scarce
b) Plentiful
c) Limited
d) Rare

23.What is the antonym of "Honest"?
a) Trustworthy
b) Dishonest
¢) Loyal
d) Respectful

24 What is the antonym of "Diligent"?
a) Lazy
b) Hardworking
c) Careful
d) Active

25.A person who cannot be corrected?
a) Irreparable
b) Indelible
c¢) Incorrigible
d) Immutable

26. At present, the total number of sections in the Indian Constitution is
a) 356
b) 395
c) 404
d) 448 : : '
gdaH g § AR dfaue # o aRmel o e e 22
a) 356

e ————————



ail:

b) 395
c) 404
d) 448

India's first mission to the moon was launched in which year?
a) 1969

b) 2005

c) 2008

d) 1998

AR & o9 R ygen fAvH fba af df=a fdar wam or?

a) 1969

b) 2005

c) 2008

d) 1998

28 When was the battle of Haldighati fought?

a) 1550
b) 1576
c) 1650
d) 1701
FREC & g He oSl AT AT?
a) 1550
b) 1576
c) 1650
d) 1701

29.Who was made the Nawab of Bengal following the Battle of Plassey?

a) Mir Jafar

b) Alivardi Khan

¢) Sirajuddaulah

d) Mir Qasim

Tl & gg & d1Q e BT Aa19 B g9 TT or?
a) AR GITHR

b) AcHaL] @A

c) l%?lﬁj Tetl
d) AR PIRA

30.How many colours does sunlight consist of?

a) 3
b) 2
c) 7
d) 5
A &1 JH fhaw T @ Aae) 991 2ar 82
a) 3
b) 2
e) 7
d 5

31.The Kamakhya Temple is located in 2



a) Guwahati

b) Kohima

¢) Imphal

d) Agartala

DR Hiax 4 Rerd 2
a) Wﬂ

b) BT

c) SBIe

d) SR

32.Subarnarekha river does not pass through which state?
a) Jharkhand
b) Odisha
c) Chhattisgarh
d) All the above states

gaviver 74 f w9 | T8 ok 87

33. Which of the following foreign countries is closest to the Andaman

Islands?

a) Sri Lanka

b) Myanmar

¢) Indonesia

d) Pakistan

fferRa # & @i |1 fageh <31 ofsAM 81U 99 @ w99 e &7
a) ’Bﬁ?ﬁb—[

b) RIHAR

c) s@ﬁm

d) arfde=

34.Which of the following countries are associated with Palk Strait?
a) Pakistan and China

b) India and Sri Lanka

c¢) North Korea and South Korea

d) Britain and France

fr=ferad # @ @19 w1 29 ure Ty W Hefd 27
b) sfear 3R Aeiar

o) SR FIRAT 3R aferor T

d) faea &R wiw

35.Which of the following is a Kharif crop?
e) Mustard




) Paddy

g) Gram

h) Wheat

e § @ o9 i @d% waa 2?7
a) SaEssll

b) €14

c) 9l

d) T

36.Who elected Dr. Rajendra Prasad as the first President of India?
a) By the Constituent Assembly
b) By Mahatma Gandhi
c) By Prime Minister
d) None of these
eﬁ.mmaﬁwzﬁrqwmﬁmﬁmgmw?
a) SfET |91 R
b) HETHT T gIRT
) e HAl gIRT
d) 379 9§ BIg e

37.Which part of the atmosphere is a part of the chemistry board?
a) Ion Circle

b) Platonic Circle

c) Troposphere

d) Ozone Circle

qRpFTEe B B W1 AN W g A 8?
a) A A

p) @CI® Hsd

q) NS Fed

38.Where does Indira Gandhi Canal or Rajasthan Canal get water from?
a) Ravi
b) Ghagra
¢) Yamuna
d) Sataluj
gfawT T 78N A7 ISR TEY B ur FEf ¥ e 82
a) fa
b) HTERT
e) TGN
d) g

39. Who was the first Tirthankara of Jains?
a) Arishtanemi




b) Parshvanath

c) Ajitnath

d) Rishabhdev

O @ U dRfaR B 9
a) AReAR

b) TPEATY

c)

d)

40.Where is Silicon Valley located?
a) California
b) Scotland
c) Swiss Alps
d) New England
fforpta e ®ef Rera 87

41 There is 10% loss if an article is sold at Rs. 270. Then the cost price of
the article is:

a) Rs 320

b) Rs. 250

c) Rs. 300

d) Rs. 270

afy B a¥qg 270 B F A 0 ¥ A 10% EA AR & A ARG P SAT
qog T 87

a) 320 B9

b) 250 HUY

¢) 300 HUU

d) 270 ®9

42 When the tax on an article is increased by 20%, its consumption is
decreased by 20%. In total tax receipt on this item-

a) 4% increase

b) 4% reduction

c) 5% increase

d) There was no difference.

S frdl G TR dX 20% 96 oIl § o I @A 20% PH & Wl & |
=9 9% T fberT FR T B 87




a) 40/03’?[@
b) 4% DI HH
c) 59’0@@
d) DS IR L 3

43.A boat travels 10.8 km upstream in 36 minutes. If the speed of the

boat is 21 kmph find how much distance the boat will travel in 28
minutes downstream?

a) 12 km

b) 11.2 km

¢) 13.2 km

d) 11 km

e) None of these

% 99 36 e d ar1 & fQuRa 108 &9 & amm g o=t &) 3 99 &
s 21 6 ofd g & O 99 W P A9 aN B Iaa 28 Bee F fha
R T BAN?

a) 12 f&

b) 11.2 f&H

c) 13.2 &M

d) 39 9 B T8

44 Shankar took a loan of Rs. 25,000 for purchasing a machine. How
much amount will he repay after 1 year 6 months at annual rate of
12%, when interest is accumulated annually?

a) 25,850

b) 27,680

c) 30,000

d) 29,680

A A UH FH @YIeH & T 25,000 WU BT ol fordr| 98 1 99 6 718 @
g1 12 ufoed @ &R 9 fban IR gergm, SEfe @ e vy | S
BITT?

a) 25,850

b) 27,680

c) 30,000

d) 29,680

45.A and B together can complete a work in 10 days. A alone can do it in
40 days. In how many days B alone can complete it?
a) 40/3
b) 10
c)t 8
d) 30/7

A 3R B faciax fB U wrd @1 10 f&AT § g1 &R Ghd ® A bl N 40
foey 4 @Y FHdT | B IS 39 fHa RAN # qur dem?

a) 40/3

b) 10

c) 8

d) 30/7




ge. After 20 years, his father’s age will be
:)m; Sr;:as; Shalf times Suresh’s age. What is his father’s age now?
b) 20 years
c) 26 years
d) 30 years

Gﬁmﬁm&ﬁﬁlzoaﬁm,mﬁmaﬁang
i EﬁTmmfﬁaTaﬁaa‘qma@am%?
a) 40 X

47.A single person takes 4 minutes to type a page, if from 12 noon to 1.00
pm., 1080 pages are to be typed, how many persons should be
employed on this job?

a) 108
b) 60
c) 90
d) 72

wmﬁmwﬁammﬁﬁ4ﬁﬂem%13ﬁ:W1zaﬁ@1aﬁ
azﬁmaoﬁvrragqaﬂﬁﬁa‘rsvmwﬁmﬁmﬁﬁwm?
108
360
c) 90
d) 72

48 Ramesh and Dinesh can complete a work in 15 and 20 days

respectively. Ramesh started working but after 5 days Dinesh replaced
Ramesh. Find the share of Dinesh in Rs 15000
a) 5,000

b) 9,000
c¢) 10,000
d) 8,000

WY AR T2 B B B BHI 15 3R 20 RT ¥ qR1 By why &) @ 3
@ R g fbar afdw 5 Re are Reer 5 e @ oFrE @ o 15,000
wud A femrer &1 R s dfg?

a) 5,000

b) 9,000

¢) 10,000

d) 8,000

49 A person gives 1/4 of his property to his daughter, 1/2 to his sons
and 1/5 for charity. How much has he given away?
a) 1/20
b) 19/20
c) 1/10
d) 9/10




g

e AR AT T BT 1/4 Rewr ao 9 31, 1 /2 R 9 92 B
AR 1 /5 e a9 & qar 1 99 U fbaer R @ feam R
1/20
i} 14/20
c) 1/10
d) 9/10

50.Milk and water are in 7:2 ratio in a mixture of 729 litres. How much
water shall be mixed in it in order to change this ratio to 7:3?
a) 81
b) 72
c) 45
d) 56

729 <eR & 8T § gy 3R I &1 U 7:2 B | 9 U B 7:3 HA B
fore sud fhasm o femar sem?

a) 81

b) 72

- ¢c) 45

d) 56




